EAGRAROBREERT — 2 N— ABISH —F 20205452680 (H) 1HES6H

MU SR 3 KB BEFHFER ‘ [Xiz] % ‘ [eErsm]  — | & (&) 17000 B
[~&4] 1 % :5,100,000 @ ~ 2 # :2,000,000 F ~ 3 # :1,300,000 ™ ~ 4 3% :770,000 M 5 & :510,000 M
B | RE BESR Mk HE %F (FE) s4 L (G&ZE) | BBIER | EOF [SIEH | AR | AE | BEE FiRE) / BE / £ERS
N FEF AR : ~14-7- wlFEZ (FER)
il kv amaran # 3 ) 1.(4_8).9 14-14-7-4 | 39.1| 86.6 | 4 (4_324) it
R:YZ24—3I224— B:xA4ayTyy = re]
N - NIXE& 149. -3-2- . . WIS (FER)
2l5|g|TTiFy o2 [B] 4 3 s 1 (429)2 3-3-2-2 |39.8| 84.2 | 1 (5+226) L s
RivvREIzA Biy—1Xbyoay J—Hr Ty —L
s FREFAR : -3-3~ JEHRA (FRF)
3 4| FTERUE-—> 3| BH 1(.14/92.>3 4-3-3-4 |39.7|83.4 | 5 z:(s;z L
L:d—IWk7Va2—-b B:HI7EIT71Z— 2T FH5
S RS : -10-3- ZHEMME (RFR)
4 7| TP UTZ 3 | BS (11'419/?8 10-10-3-1 | 40.0 | 81.8 | 2 (4:3‘3 S
Vv Ray14 B:T7I—2a HE R
2 . t 3 | R 1:49.8 4-5-3-6 |40.2| 79.4 | 9 | 488 |EHE— (RR)
50712 ¥t 17 AET ’ %55.0 @ o) | ) pFTTR-LF TR
/TR BT v X58— % B
- RES : “1-1= =
6 o | RTHRTNHF L # 3 gg_oﬂz (12.510/.22) 1-1-1-2 | 40.9| 76.6 | 6 (i?j) gg%g (=R
RIET7RAT B:K—YzRb J—Hr Ty —L
N FIaAEA -10-11- ENEEZ (FER)
1 : QA RS = # 3 i (11510/24> 10-10-11-8 | 40.3 | 74.6 | 12 (4;0) el
R:ih—tr¥a—gr B:VILTILIK FEFWL A
g 3 | =EAEA 1:50.6 12-12-13-12| 40.4 | 73.1 | 10 | 450 |®E—% (R®)
sl 8| 32 hARAATN B 56.0 (1 1/4) (o) | ) FaTesh
RiTIAY>T75yva B:vALFTSEF Rl el
o —J # 3 | BREBHER 1:50.9 8-9-7-8 |41.1| 71.2 | 3 | 482 |MlmEE (FR)
N 6 RRRREE A53.0 (1 3/4) (o) |FATLRE—LT 12y 2 aARH
LRV ATA v 794 UT7— BiN—=-FTAUR BRT7—L
s S B :51. -15-11- . . ZHET (FF)
ool xravety 43 L Ed 1(551)7 14-15-11-8 | 41.6 | 65.6 | 7 (4_764) *’A?M?K?
L:/JGxVXb B3I TAIT— = re)
= (873 SN : -8-10- NEPRER (i)
1lglialVavszn—t R VS 1.(%2).2 7-8-10-14 | 42.3 | 62.6 | 14 (gg) ;E\ﬁgég%
:28—=1)>TA-X BNTIVHLISLR =l B
= AiEH ° -6-13- EEE AN (ER)
12 3| FavIATSvY 3 2" 1(.15/22.)3 8-6-13-13 | 42.0 | 61.5 | 11 (4_126) Eq];;*
R:TS5v 784K BiL1X1T7I5Z EVFHT7— L
. AIEE :52. -13-15- . . EEEE (XH)
130713 ¥2/8%> % 4 3 e 1(512)5 12-13-15-15| 41.2 | 58.9 | 15 (4;2) 1tﬁ?.ﬁ)\
R:kTELR BIZTULTEA LOTLR RIS
o N D=V 0 —D_Q_ e
M : EECECIDEPAI:)! # o3 %glg_ob 1.{543).2 2237 |43.7|57.3 | 13 :?g) g;gfg%{%
R:ZAENN—F B:RSATy R HET7— L
o 5 # 3 | BED 1:54.1 4-6-7-8 | 44.3| 52.1 | 8 | 444 |MFFE (ER)
15815 Zv T4 A53.0 (5) (-p) |BEERE ()
g/ w7 BihREZ—Zv =EEie]
@ %1 L
Erh 52.5-39.6
NAZ 24 L |7.3-11.3-11.9-12.8-13.1-12.9-13.3-13.0-13.3
@ 11— F—EBIELL
12=37r= (x2,5)9(4,12,15)14(3,11)-(6,7) (8,13) (1,10)
2T =7r= 2,5(4,9)12(3,15)14,11(6,7)-8,13,1,10
J=7"= 2,9(4,5,12,7) (15,11,1)14(6,10) (3,8)=13
41—F— (2,9,%7) (4,1)12-5(15,6,11,10)8,3,14-13
0 HLRE
BB 1 950 74K 1-9 320 % E 1-5 1,010MH & 1-4-9 2,840M
B B 1 210M 1-4 700M B = 1-9 840 & 1-9-4 18,760
9 130H 4-9 430H B E 1-9 2,460
4 350

ABRICOVTHRTEEERROODE, THEB LS,




